General Inform	nation	Preliminary						
Name of Hospital:	:				Medicare	Provider	Number:	
	pany of Mary Hos	pital						14-0179
Street: 2800 W. 95	th Street				Medicaid	Provider	Number:	3072
City:		State:			Į.	Zip:		
Evergreen Period Covered by		IL From:				ITo:	0642	
	-		01/2010			-	6/30/2011	
Type of Contro	ol							
Voluntary Nonpro	ofit	Proprietary		Governm	ment (Non-Federal)			
XXXX Church XXXX		Individual			State			Township
Corpora	ation	Partnershi	р		City			Hospital District
Other (S	Specify)	Corporatio	n		County			Other (Specify)
Type of Hospi	tal							
	Short-Term		Psychiatric				Cancer	
General	Long-Term		Rehabilitation				Other (Sp	ecify)
Health Care Pr	rogram	(A Separa	(A Separate Report Must Be Filled C			n Distinct	Part Unit)	
XXXX Medicaid	d Hospital		Medicaid Sub II Rehab				DHS - Off Rehabilita	ice of tion Services
Medicai Psych	d Sub I		Medicaid Sub III Other				U of I - Div Specialize	vision of ed Care for Children
		on Or Falsification Of ent Under Federal La		In This Co	st Report I	May Be Pu	nishable	
CERTIFICATION E	BY OFFICER OR A	ADMINISTRATOR OF	PROVIDER(S):					
Sheet and Statemer for the cost report by	ent of Revenue and beginning 07/0	I the above statement a d Expense prepared by 01/2010 and ending the books and records of	(Provider name(s 06/30/2011 and	s) and numb d that to the	per(s)) best of my	Little Con knowledge	npany of Ma e and belief	ary Hospi 3072 , it is a true, correct and
Prepared by (Signe	ed):			Się	gned (Offic	er or Admii	nistrator of I	Provider(s)):
Name (Typewritten) Title		Date		Na Tit	me (Typewritt	en)		
Firm	_	Date		Dat				
Telephone Number					ephone Numb	er		
Fmail Address					ail Address			

This State Agency is requesting disclosure of information that is necessary to accomplish statutory purposes as found in Section 5 of the (305 ILCS 5/) Healthcare and Family Services Code (from Ch. 23, Par. 5). Failure to provide any information on or before the due date will result in cessation of program payments. This form has been approved by the Forms Mgt. Center.

1 temmat y	
Medicare Provider Number:	Medicaid Provider Number:
14-0179	3072
Program:	Period Covered by Statement:
Medicaid Hospital	From: 07/01/2010 To: 06/30/2011

					Total	Percent		Number Of	Average
					Inpatient	Of	Number	Discharges	Length Of
			Total	Total	Days	Occupancy	Of	Including	Stay By
	Inpatient Statistics	Total	Bed	Private	Including	(Column 4	Admissions	Deaths	Program
Line	•	Beds	Days	Room	Private	Divided By	Excluding	Excluding	Excluding
No.		Available	Available	Days	Room Days	Column 2)	Newborn	Newborn	Newborn
	Part I-Hospital	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)
1.	Adults and Pediatrics	236	86,140	` /	50,713	58.87%	12,959	12,959	4.56
	Psych	24	8,760		4,016	45.84%			
3.	Rehab		-						
	Intensive Care Unit	26	9,490		7,330	77.24%			
6.	Coronary Care Unit								
7.	NICU	12	4,380		1,059	24.18%			
	Other		-						
9.	Other								
10.	Other								
11.	Other								
12.	Other								
13.	Other								
14.	Other								
16.	Other								
17.	Other								
18.	Other								
19.	Other								
20.	Other								
21.	Newborn Nursery	24	8,760		1,810	20.66%			
22.	Total	322	117,530		64,928	55.24%	12,959	12,959	4.87
23.	Observation Bed Days				3,084		1_,000	1_,000	
		·····	*******************************	***************************************	0,00.	***************************************	•••••	•••••	***************************************
	Part II-Program	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)
1.	Adults and Pediatrics		(_/	(-)	6,231	(-7	2,167	2,167	3.47
	Psych				5,25:		2,.01	_,	0
	Rehab								
4.	Other (Sub)								
	Intensive Care Unit				793				
6.	Coronary Care Unit								
	NICU				506				
	Other				230				
9.	Other								
	Other								
11.	Other								
12.	Other								
13.	Other								
14.	Other								
16.	Other								
17.	Other								
18.	Other								
19.	Other								
20.	Other								
21.	Newborn Nursery				826				
	Total				8,356	12.87%	2,167	2,167	3.47
	10.01		·····		0,550	12.01 /0	2,107	2,107	3.47

	Line No.	Part III - Outpatient Statistics - Occasions of Service	Program	Total Hospital
ľ	1.	Total Outpatient Occasions of Service	- 3	

Hospital Statement of Cost / Apportionment of Ancillary Services to Health Care Programs

BHF Page 3

Preliminary

1 i chimiai j			
Medicare Provider Number:		Medicaid Provider Number:	
	14-0179	3072	
Program:		Period Covered by Statement:	
Medicaid Hospital		From: 07/01/2010	To: 06/30/2011

		1					l I	
					Total	Total	I/P	O/P
		Total Dept.	Total Dept.		Billed I/P	Billed O/P	Expenses	Expenses
		Costs	Charges		Charges	Charges	Applicable	Applicable
		(CMS 2552-10,	_	Ratio of	(Gross) for	(Gross) for	to Health	to Health
		` w/s c,	`w/sc,	Cost to	Health Care	Health Care	Care	Care
Line		Pt. 1,	Pt. 1,	Charges	Program	Program	Program	Program
No.	Ancillary Service Cost Centers	Col. 1)	Col. 8)*	(Col. 1 / 2)	Patients	Patients	(Col. 3 X 4)	(Col. 3 X 5)
NO.	Ancillary Service Cost Centers	(1)	(2)	(3)	(4)	(5)	(6)	(7)
1	Operating Room	11,856,677	58,233,631	0.203605	2,082,871	(3)	424,083	(1)
	Operating Room	11,000,077	30,233,031	0.203003	2,002,071		424,063	
	Recovery Room	4,512,931	40.455.044	0.005000	4.507.400		4 504 740	
	Delivery and Labor Room		13,455,941	0.335386	4,567,103		1,531,742	
	Anesthesiology	789,677	18,308,598	0.043131	1,196,619		51,611	
	Radiology - Diagnostic	7,101,912	35,703,403	0.198914	1,706,895		339,525	
	Radiology - Therapeutic	4,770,620		0.226316	173,253		39,210	
	Nuclear Medicine	2,021,952	12,174,669	0.166079	436,338		72,467	
	Laboratory	12,538,791	112,864,124	0.111096	7,918,936		879,762	
	Blood							
10.	Blood - Administration							
11.	Intravenous Therapy							
12.	Respiratory Therapy	3,935,028	25,183,330	0.156255	2,663,116		416,125	
13.	Physical Therapy	2,672,577	8,183,108	0.326597	212,208		69,306	
14.	Occupational Therapy							
	Speech Pathology	357,624	1,760,656	0.203120	102,251		20,769	
	EKG	2,031,010	19,049,687	0.106616	1,032,900		110,124	
	EEG	200,770	1,395,363	0.143884	60,863		8,757	
	Med. / Surg. Supplies	1,828,265	2,486,360	0.735318	313,111		230,236	
	Drugs Charged to Patients	14,055,108	89,496,338	0.157047	8,525,382		1,338,886	
	Renal Dialysis	1,035,672	2,665,080	0.388608	374,560		145,557	
	Ambulance	1,000,012	_,000,000	0.00000	0,000		0,00.	
	GI Lab	3,009,676	19,747,940	0.152405	478,294		72,894	
	Ultrasound	1,995,509	15,854,245	0.125866	683,270		86,000	
	CT Scan	2,099,722	49,444,371	0.042466	2,302,644		97,784	
	Cath Lab	1,386,024	15,319,734	0.090473	1,197,135		108,308	
	MRI	1,368,990	9,595,197	0.142675	444,164		63,371	
	Outpatient Rehab	2,318,348	4,386,770	0.528486	777,107		00,071	
	Wound Care	887,479	4,018,781	0.220833				
	Sleep Lab	300,939	1,301,238	0.231271				
	Palos Diagnostic Ctr.	499,668	1,185,515	0.421478				
	Implant Dev. Charged	10,292,568	24,744,003	0.421476	822,506		342,131	
	Other	10,232,300	24,144,003	0.410302	022,500		J 4 ∠,131	
	Other							
	Other							
		-						
	Other							
	Other							
	Other							
	Other							
	Other							
	Other							
	Other							
42.	Other	<u> </u>		***************************************				
	Outpatient Service Cost Centers							
	Clinic	908,236	1,344,809	0.675364	88,263		59,610	
	Emergency	8,113,840		0.138701	2,638,088		365,905	
	Observation	2,110,412	4,000,303	0.527563				
46.	Total				40,020,770		6,874,163	

^{*} If Medicare claims billed net of professional component, total hospital professional component charges must be added to CMS 2552, W/S C charges to recompute the department cost to charge ratio.

Hospital Statement of Cost / Computation of Inpatient Operating Cost Preliminary

BHF Page 4

Medicare Provider Number:	Medicaid P	rovider Number:		
14-0179			3072	
Program:	Period Cov	ered by Statement:		
Medicaid Hospital	From:	07/01/2010	To:	06/30/2011

Program Inpatient Operating Cost

Line		Adults and	Sub I	Sub II	Sub III
No.	Description	Pediatrics	Psych	Rehab	Other (Sub)
1. a)	Adjusted general inpatient routine service cost (net of				
	swing bed and private room cost differential) (see instructions)	36,805,815	2,863,881		
b)	Total inpatient days including private room days				
	(CMS 2552-10, W/S S-3, Part 1, Col. 8)	53,797	4,016		
c)	Adjusted general inpatient routine service				
	cost per diem (Line 1a / 1b)	684.16	713.12		
2.	Program general inpatient routine days				
	(BHF Page 2, Part II, Col. 4)	6,231			
3.	Program general inpatient routine cost				
	(Line 1c X Line 2)	4,263,001			
4.	Average per diem private room cost differential				
	(BHF Supplement No. 1, Part II, Line 6)				
5.	Medically necessary private room days applicable				
	to the program (BHF Page 2, Pt. II, Col. 3)				
6.	Medically necessary private room cost applicable	_			
	to the program (Line 4 X Line 5)				
7.	Total program inpatient routine service cost	_			
	(Line 3 + Line 6)	4,263,001			

		Total Dept. Costs	Total Days (CMS 2552-10,	Average	Program Days	
Line		(CMS 2552-10,	W/S S-3,	Per Diem	(BHF Page 2,	Program Cost
No.	Description	W/S C, Pt. 1, Col. 1)	Part 1, Col. 8)	(Col. A / Col. B)	Part II, Col. 4)	(Col. C x Col. D)
	•	(A)	(B)	(C)	(D)	(E)
8.	Intensive Care Unit	8,919,235	7,330	1,216.81	793	964,930
9.	Coronary Care Unit					
10.	NICU	1,782,931	1,059	1,683.60	506	851,902
11.	Other					
12.	Other					
13.	Other					
14.	Other					
15.	Other					
16.	Other					
17.	Other					
18.	Other					
19.	Other					
20.	Other					
21.	Other					
22.	Other					
23.	Nursery	743,568	1,810	410.81	826	339,329
24.	Program inpatient ancillary care service cost					
	(BHF Page 3, Col. 6, Line 46)					6,874,163
25.	Total Program Inpatient Operating Costs					
	(Sum of Lines 7 through 24)					13,293,325

Hospital Statement of Cost Apportionment of Cost of Services Rendered by Interns and Residents Not in an Approved Teaching Program Preliminary

Prenminary		
Medicare Provider Number:	Medicaid Provider Number:	
14-0179	3072	
Program:	Period Covered by Statement:	
Medicaid Hospital	From: 07/01/2010 To: 06/30/2011	

Line No.	Hospital Inpatient Services	Percent of Assign- able Time (CMS 2552-10, W/S D-2, Col. 1)	Expense Alloca- tion (CMS 2552-10, W/S D-2, Col. 2)	Total Days Including Private (CMS 2552-10, W/S S-3 Pt. 1, Col. 8)	Average Cost Per Day (Col. 2 / Col. 3)	Program Inpatient Days (BHF Page 2, Part II, Column 4) (5)	Program Inpatient Expenses (Col. 4 X Col. 5) (6)
1.	Total Cost of Svcs. Rendered	100%	. ,			V-7	\ /
2.	Adults and Pediatrics (General Service Care)	10070					
3.	Psych						
	Rehab						
5.	Other (Sub)						
	Intensive Care Unit						
7.	Coronary Care Unit						
8.	NICU						
9.	Other						
10.	Other						
11.	Other						
12.	Other						
13.	Other						
	Other						
15.	Other						
	Other						
	Other						
18.	Other						
	Other						
20.	Other						
21.	Nursery						
22.	Subtotal Inpatient Care Svcs. (Lines 2 through 21)						

Line No.	Hospital Outpatient Services	Percent of Assign- able Time (CMS 2552-10, W/S D-2, Col. 1)	Expense Alloca- tion (CMS 2552-10, W/S D-2, Col. 2)	Total Dept. Charges (CMS 2552-10, W/S C, Pt.1, Lines 88-93)	Ratio of Cost to Charges (Col. 2 / Col. 3)	(BHF I	Charges Page 3, .ines 43-45) Outpatient		Expenses Cols. 5A-B) Outpatient
		(1)	(2)	(3)	(4)	(5A)	(5B)	(6A)	(6B)
23.	Clinic								
24.	Emergency								
25.	Observation								
	Subtotal Outpatient Care Svcs. (Lines 23 through 25)								
27.	Total (Sum of Lines 22 and 26)								

Hospital Statement of Cost / Analysis of Hospital - Based Physician Expense

BHF Page 6(a)

Preliminary

11 Chilling	
Medicare Provider Number:	Medicaid Provider Number:
14-0179	3072
Program:	Period Covered by Statement:
Medicaid Hospital	From: 07/01/2010 To: 06/30/2011

			Total Dont	Ratio of	Innetions	Outpotions	Innations	Outpotions
		Professional	Total Dept. Charges	Professional	Inpatient Program	Outpatient Program	Inpatient Program	Outpatient Program
		Component	(CMS 2552-10,			Charges	Expenses	
			W/S C,	Component	Charges	•	for H B P	Expenses for H B P
Line	Cost Centers	(CMS 2552-10, W/S A-8-2,	νν/3 C, Pt. 1,	to Charges (Col. 1 /	(BHF Page 3,	(BHF Page 3,	(Col. 3 X	(Col. 3 X
No.	Cost Centers	Col. 4)	Col. 8)*	(Col. 17 Col. 2)	Col. 4)	Col. 5)	Col. 3 A	Col. 5 X
	Inpatient Ancillary Cost Centers	(1)	(2)	(3)		(5)	(6)	
	Operating Room	(1)	(2)	(3)	(4)	(5)	(6)	(7)
	Recovery Room							
	Delivery and Labor Room							
	Anesthesiology							
	Radiology - Diagnostic							
5.	Radiology - Diagnostic Radiology - Therapeutic	105,000	21,079,464	0.004981	173,253		863	
	Nuclear Medicine	105,000	21,079,404	0.004961	173,233		003	
	Laboratory							
	Blood							
	Blood - Administration							
	Intravenous Therapy							
	Respiratory Therapy							
	Physical Therapy							
	Occupational Therapy							
	Speech Pathology							
	EKG							
	EEG							
	Med. / Surg. Supplies							
19.	Drugs Charged to Patients							
	Renal Dialysis							
	Ambulance							
	GI Lab							
	Ultrasound							
	CT Scan							
	Cath Lab							
	MRI							
	Outpatient Rehab							
	Wound Care							
	Sleep Lab							
30.	Palos Diagnostic Ctr.							
	Implant Dev. Charged							
	Other							
	Other	1						
	Other							
	Other							
	Other							
	Other							
38.	Other							
	Other							
	Other	1						
	Other							
42.	Other							
40	Outpatient Ancillary Cost Centers							
	Clinic							
	Emergency							
	Observation		***************************************			***************************************	000	
46.	Ancillary Total				l		863	

^{*} If Medicare claims billed net of professional component, total hospital professional component charges must be added to W/S C charges to recompute the professional component to total charge ratio.

Hospital Statement of Cost / Analysis of Hospital - Based Physician Expense Preliminary

BHF Page 6(b)

11 Chilling	
Medicare Provider Number:	Medicaid Provider Number:
14-0179	3072
Program:	Period Covered by Statement:
Medicaid Hospital	From: 07/01/2010 To: 06/30/2011

		Professional	Total Days Including	Professional Component	Program Days	Outpatient Program	Inpatient Program	Outpatient Program
		Component	Private	Cost	Including	Charges	Expenses	Expenses
		(CMS 2552-10,		Per Diem	Private	(BHF	for H B P	for H B P
Line	Cost Centers	W/S A-8-2.	W/S S-3	(Col. 1 /	(BHF Pg. 2	Page 3,	(Col. 3 X	(Col. 3 X
No.	oost oenters	Col. 4)	Pt. 1, Col. 8)	Col. 17	Pt. II, Col. 4)	Col. 5)	Col. 4)	Col. 5 X
	Routine Service Cost Centers	(1)	(2)	(3)	(4)	(5)	(6)	(7)
	Adults and Pediatrics	1,683,636	53,797	31.30	6.231	(0)	195,030	\· /-
	Psych	1,000,000	00,101	01.00	0,201		100,000	
	Rehab							
	Other (Sub)							
	Intensive Care Unit							
52.	Coronary Care Unit							
	NICU							
	Other							
55.	Other							
56.	Other							
57.	Other							
58.	Other							
59.	Other							
60.	Other							
61.	Other							
62.	Other							
63.	Other							
64.	Other							
	Other							
	Nursery							
	Routine Total (lines 47-66)						195,030	
	Ancillary Total (from line 46)						863	
69.	Total (Lines 67-68)						195,893	

Rev. 10 / 11

Preliminary

Medicare Provider Number:

14-0179

Program:

Medicaid Provider Number:

3072

Period Covered by Statement:
From: 07/01/2010

To: 06/30/2011

Line No.	Reasonable Cost	Program Inpatient (1)	Program Outpatient (2)
1.	Ancillary Services		
	(BHF Page 3, Line 46, Col. 7)		
2.	Inpatient Operating Services		
	(BHF Page 4, Line 25)	13,293,325	
3.	Interns and Residents Not in an Approved Teaching		
	Program (BHF Page 5, Line 27, Cols. 6a and 6b)		
4.	Hospital Based Physician Services		
	(BHF Page 6, Line 69, Cols. 6 & 7)	195,893	
5.	Services of Teaching Physicians		
	(BHF Supplement No. 1, Part 1C, Lines 7 and 8)		
6.	Graduate Medical Education		
	(BHF Supplement No. 2, Cols. 6 and 7, Line 69)	61,643	
7.	Total Reasonable Cost of Covered Services		
	(Sum of Lines 1 through 6)	13,550,861	
8.	Ratio of Inpatient and Outpatient Cost to Total Cost		
	(Line 7 Divided by Sum of Line 7, Cols. 1 and 2)	100.00%	

Line	Customary Charges	Program Inpatient	Program Outpatient
No.	Anaillant Caminas	(1)	(2)
9.	Ancillary Services (See Instructions)	40,000,770	
10		40,020,770	
10.	Inpatient Routine Services (Provider's Records)		
	A. Adults and Pediatrics	10,676,507	
		10,676,507	
	B. Psych C. Rehab		
	D. Other (Sub)	0.074.075	
	E. Intensive Care Unit	2,274,375	
	F. Coronary Care Unit	4.500.500	
	G. NICU	1,523,532	
	H. Other		
	I. Other		
	J. Other		
	K. Other		
	L. Other		
	M. Other		
	N. Other		
	O. Other		
	P. Other		
	Q. Other		
	R. Other		
	S. Other		
	T. Nursery	964,101	
11.	Services of Teaching Physicians		
	(Provider's Records)		
12.	Total Charges for Patient Services		
	(Sum of Lines 9 through 11)	55,459,285	
13.	Excess of Customary Charges Over Reasonable Cost		
	(Line 12 Minus Line 7, Sum of Cols. 1 through 2)		41,908,424
14.	Excess of Reasonable Cost Over Customary Charges		-
	(Line 7, Sum of Cols. 1 through 2, Minus Line 12)		
15.	Excess Reasonable Cost Applicable to Inpatient and Outpatient		
	(Line 8, Each Column X Line 14)		

1101111111111				
Medicare Provider Number:	Medicaid Provider Number:			
14-0179	307	72		
Program:	Period Covered by Statement:			
Medicaid Hospital	From: 07/01/2010	To:	06/30/2011	

Line No.	Allowable Cost	Program Inpatient (1)	Program Outpatient (2)
1.	Total Reasonable Cost of Covered Services		
	(BHF Page 7, Line 7, Cols. 1 & 2)	13,550,861	
2.	Excess Reasonable Cost		
	(BHF Page 7, Line 15, Columns 1 & 2)		
3.	Total Current Cost Reporting Period Cost		
	(Line 1 Minus Line 2)	13,550,861	
4.	Recovery of Excess Reasonable Cost Under		
	Lower of Cost or Charges		
	(BHF Page 9, Part III, Line 4, Cols. 2B & 3B)		
5.	Protested Amounts (Nonallowable Cost Items)		
	In Accordance With CMS Pub. 15-II, Ch. 1, Sec. 115.2		
6.	Total Allowable Cost		
	(Sum of Lines 3 and 4, Plus or Minus Line 5)	13,550,861	

Line No.	Total Amount Received / Receivable	Program Inpatient (1)	Program Outpatient (2)
7.	Amount Received / Receivable From:		
	A. State Agency		
	B. Other (Patients and Third Party Payors)		
8.	Total Amount Received / Receivable		
	(Sum of Lines 7A and 7B)		
9.	Balance Due Provider / (State Agency) *		
	(Line 6 Minus Line 8)		

^{*} Line 9 DOES NOT APPLY to the Medicaid program.

Rev. 10 / 11

Preliminary

Medicare Provider Number:	Medicaid Provider Number:	
14-0179	3072	
Program:	Period Covered by Statement:	
Medicaid Hospital	From: 07/01/2010 To: 06/30/2011	

Part I - Computation of Recovery of Excess Reasonable Cost Under Lower of Cost or Charges

Line	(Do Not Complete This Part In Any Cost Reporting Period In Which Costs Are Unreimbursed					
No.	Under 42 CFR Section 405.460) (Limitation on Coverage of Costs)					
1.	Excess of Customary Charges Over Reasonable Cost					
	(BHF Page 7, Line 13) 41,908,424					
2.	2. Carry Over of Excess Reasonable Cost					
	(Must Equal Part II, Line 1, Col. 5)					
3.	Recovery of Excess Reasonable Cost					
	(Lesser of Line 1 or 2)					

Part II - Computation of Carry Over of Excess Reasonable Cost Under Lower of Cost or Charges

	Prior Cost Reporting Period Ended		Prior Cost Reporting Period Ended		Current Cost	Sum of
Line	Description	to	to	to	Reporting	Columns
No.					Period	1 - 4
		(1)	(2)	(3)	(4)	(5)
	Carry Over -					
	Beginning of					
	Current Period					
2.	Recovery of Excess					
	Reasonable Cost					
	(Part I, Line 3)					
	Excess Reasonable					
	Cost - Current					
	Period (BHF Page 7,					
	Line 14)					
	Carry Over - End of					
	Current Period					
	(Line 1 Minus Line 2					
	or Plus Line 3)					

Part III - Allocation of Recovered Excess Reasonable Cost Under Lower of Cost or Charges

		Total (Part II,	In	patient	Out	tpatient
Line	Description	Cols. 1-3,		Amount		Amount
No.		Line 2)	Ratio	(Col. 1x2A)	Ratio	(Col. 1x3A)
		(1)	(2A)	(2B)	(3A)	(3B)
1.	Cost Report Period					
	ended					
2.	Cost Report Period					
	ended					
3.	Cost Report Period					
	ended					
4.	Total					
	(Sum of Lines 1 - 3)					

-			•		
Pre	h	m	ın	я	rv

Medicare Provider Number:	Medicaid Provider Number:
14-0179	3072
Program:	Period Covered by Statement:
Medicaid Hospital	From: 07/01/2010 To: 06/30/2011

Part I - Apportionment of Cost for the Services of Teaching Physicians

Part A. Cost of Physicians Direct Medical and Surgical Services

1.	Physicians on hospital staff average per diem	
	(CMS 2552-10, Supplemental W/S D-5, Part II, Col. 1, Line 3)	
2.	Physicians on medical school faculty average per diem	
	(CMS 2552-10, Supplemental W/S D-5, Part II, Col. 2, Line 3)	
3.	Total Per Diem	
	(Line 1 Plus Line 2)	

		General	Sub I	Sub II	Sub III
	Part B. Program Data	Service	Psych	Rehab	Other (Sub)
	Program inpatient days (BHF Page 2, Part II, Column 4)				
5.	Program outpatient occasions of service (BHF Page 2, Part III, Line 1)				

	Part C. Program Cost	General Service	Sub I Psych	Sub II Rehab	Sub III Other (Sub)
	Program inpatient cost (Line 4 X Line 3)				
	(to BHF Page 7, Col. 1, Line 5)				
7.	Program outpatient cost (Line 5 X Line 3)				
	(to BHF Page 7, Col. 2, Line 5)			•	

Part II - Routine Services Questionnaire

1.	Gross Routine Revenues	Adults and	Sub I	Sub II	Sub III
		Pediatrics	Psych	Rehab	Other (Sub)
	(A) General inpatient routine service charges (Excluding swing				
	bed charges) (CMS 2552-10, W/S D - 1, Part I, Line 28)				
	(B) Routine general care semi-private room charges (Excluding				
	swing bed charges)(CMS 2552-10, W/S D - 1, Part I, Line 30)				
	(C) Private room charges				
	(A Minus B) or (CMS 2552-10, W/S D-1, Part 1, Line 29)				
2.	Routine Days				
	(A) Semi-private general care days				
	(CMS 2552-10, W/S D - 1, Part I, Line 4)				
	(B) Private room days				
	(CMS 2552-10, W/S D - 1, Part I, Line 3)				
3.	Private room charge per diem				
	(1C Divided by 2B) or (CMS 2552-10, W/S D-1, Part 1, Line 32)				
	Semi-private room charge per diem				
	(1B Divided by 2A) or (CMS 2552-10, W/S D-1, Part 1, Line 33)				
5.	Private room charge differential per diem				
	(Line 3 Minus Line 4) or (CMS 2552-10, W/S D-1, Part 1, Line 34)				
	Private room cost differential (To BHF Page 4, Line 4)				
	((Line 5 X (CMS 2552-10, W/S D-1, Part I, Line 27)				
	Divided by (Line 1A Above))				
7.	Private room cost differential adjustment				
	(Line 2B X Line 6)				
	General inpatient routine service cost (net of swing bed and				
	private room cost differential)				
	(CMS 2552-10, W/S D-1, Part I, Line 37)				
9.	Adjusted general inpatient routine service cost per diem (Line 8				
	Divided by the Sum of Lines 2A + 2B) (to BHF Page 4, Line 1c)				

Hospital Statement of Cost / Graduate Medical Education Expense

BHF Supplement No. 2(a)

Preliminary

1 1 chiminal y							
Medicare Provider Number:		Medicaid Provider Number:	Medicaid Provider Number:				
	14-0179		3072				
Program:		Period Covered by Statement:					
Medicaid Hospital		From: 07/01/2010	To:	06/30/2011			

		T	T.4.1.D4	D. (1)	1			
		0 14 5	Total Dept.	Ratio of	Inpatient	Outpatient	Inpatient	Outpatient
		GME	Charges	GME	Program	Program	Program	Program
		Cost	(CMS 2552-10,	Cost	Charges	Charges	Expenses	Expenses
	Coat Cantons	(CMS 2552-10,	W/S C,	to Charges	(BHF	(BHF	for G M E	for G M E
Line	Cost Centers	W/S B, Pt. 1,	Pt. 1,	(Col. 1 /	Page 3,	Page 3,	(Col. 3 X	(Col. 3 X
No.	In a still and American Constant	Col. 25)	Col. 8)*	Col. 2)	Col. 4)	Col. 5)	Col. 4)	Col. 5)
	Inpatient Ancillary Centers	(1)	(2)	(3)	(4)	(5)	(6)	(7)
	Operating Room	202,595	58,233,631	0.003479	2,082,871		7,246	
	Recovery Room							
	Delivery and Labor Room							
	Anesthesiology							
5.	Radiology - Diagnostic							
	Radiology - Therapeutic							
	Nuclear Medicine	1						
	Laboratory							
	Blood							
	Blood - Administration							
	Intravenous Therapy							
	Respiratory Therapy							
	Physical Therapy							
	Occupational Therapy							
	Speech Pathology							
	EKG							
	EEG							
	Med. / Surg. Supplies							
	Drugs Charged to Patients							
	Renal Dialysis							
	Ambulance							
	GI Lab							
	Ultrasound							
	CT Scan							
	Cath Lab							
	MRI							
	Outpatient Rehab							
	Wound Care							
	Sleep Lab							
30.	Palos Diagnostic Ctr.							
	Implant Dev. Charged							
	Other							
	Other							
	Other							
	Other							
	Other							
	Other							
	Other							
	Other							
	Other							
	Other							
	Other							
	Outpatient Ancillary Centers							
	Clinic							
	Emergency							
	Observation							
46.	Ancillary Total						7,246	

^{*} If Medicare claims billed net of professional component, total hospital professional component charges must be added to W/S C charges to recompute the G M E cost to total charge ratio.

Hospital Statement of Cost / Graduate Medical Education Expense Preliminary

BHF Supplement No. 2(b)

1 I Cililina y							
Medicare Provider Number:			Medicaid Provider Number:				
	14-0179			3072			
Program:		Period Cov	ered by Statement:				
Medicaid Hospital		From:	07/01/2010	To:	06/30/2011		

			Total Days		Program	Outpatient	Inpatient	Outpatient
		GME	Including	GME	Days	Program	Program	Program
		Cost	Private	Cost	Including	Charges	Expenses	Expenses
		(CMS 2552-10,	(CMS 2552-10,	Per Diem	Private	(BHF	for G M E	for G M E
Line	Cost Centers	W/S B, Pt. 1,	W/S S-3, Pt. 1,	(Col. 1 /	(BHF Pg. 2	Page 3,	(Col. 3 X	(Col. 3 X
No.		Col. 25)	Col. 8)	Col. 2)	Pt. II, Col. 4)	Col. 5)	Col. 4)	Col. 5)
	Routine Service Cost Centers	(1)	(2)	(3)	(4)	(5)	(6)	(7)
	Adults and Pediatrics	469,744	53,797	8.73	6,231		54,397	
48.	Psych							
	Rehab							
	Other (Sub)							
	Intensive Care Unit							
	Coronary Care Unit							
	NICU							
	Other							
	Other							
	Other							
	Other							
	Other							
	Other							
	Other							
	Other							
	Other							
	Other							
	Other							
	Other							
	Nursery		***************************************		************			
	Routine Total (lines 47-66)						54,397	
	Ancillary Total (from line 46)						7,246	
69.	Total (Lines 67-68)						61,643	

Hospital Statement of Cost Reconciliation of Patient Days and Revenue

Reconciliation of Patient Days and Revenue	
Preliminary	
Medicare Provider Number:	Medicaid Provider Number:
14-0179	3072

al P	3072		
Program: Medicaid Hospital Inpatient Reconciliation	Period Covered by Statement: To: 06/30/2011 From: 07/01/2010 To: 06/30/2011		
	Provider's Records	Adjustments	Audited Cost Report
	7,530		7,53
_	826		82
evenue	55,459,285		55,459,28
enue	40,020,770		40,020,77
nue	15,438,515		15,438,51
ed and Receivable			
utpatient Reconciliation			
sions of Service			
Revenue			
ved and Receivable			
usted Oper Rm, Cath Lab, Observation Rm, and	A&P to W/S C Pt. 1,col.1		
justed Oper Rm, Cath Lab, Observation Rm, and adjusted to agree with as filed W/S B, Pt. 1, col. days were adjusted to W/S S-3, Pt. I	A&P to W/S C Pt. 1,col.1 25		
adjusted to agree with as filed W/S B, Pt. 1, col.	3 A&P to W/S C Pt. 1,col.1 25		
adjusted to agree with as filed W/S B, Pt. 1, col.	d A&P to W/S C Pt. 1,col.1 25		
adjusted to agree with as filed W/S B, Pt. 1, col.	d A&P to W/S C Pt. 1,col.1 25		
adjusted to agree with as filed W/S B, Pt. 1, col.	d A&P to W/S C Pt. 1,col.1 25		
adjusted to agree with as filed W/S B, Pt. 1, col.	d A&P to W/S C Pt. 1,col.1 25		
adjusted to agree with as filed W/S B, Pt. 1, col.	d A&P to W/S C Pt. 1,col.1 25		
adjusted to agree with as filed W/S B, Pt. 1, col.	d A&P to W/S C Pt. 1,col.1 25		
adjusted to agree with as filed W/S B, Pt. 1, col.	d A&P to W/S C Pt. 1,col.1 25		
adjusted to agree with as filed W/S B, Pt. 1, col.	d A&P to W/S C Pt. 1,col.1 25		
adjusted to agree with as filed W/S B, Pt. 1, col.	3 A&P to W/S C Pt. 1,col.1 25		